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1  The diagram below represents a pendulum.

Yy Fixed support

10cm cotton thread

bob

The length of the pendulum is ««.

A 2cm.

B 10cm.
c 1icm.
D 12cm.

2 Which of the following numbers has three significant figures?

A 0.0003
B 0.0030
C 0.0300
D 0.3000

3 Which graph represents the motion of a body thrown vertically upwards into the air
with negligible air resistance?

A B
Speed
(mis) Speed
{m/s)
c time(s) D time(s)
Speed
Speed (m/s)
(m/s)
time(s) time(s)
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4  An Astronaut goes to the moon where the gravitational field strength is 1.6N/kg. What
will be the changes, if any, in his mass and weight when he lands on the moon?

Mass Weight
A | Same on earth and moon | Less on moon
B | Less on moon Same on earth and moon
C | Lesson earth Less on moon
D | More on earth More on moon

5 Abody has a mass of 2kg. It accelerates from 20m/s to 40m/s in 4 seconds. The
resultant force is ¢«

A 8N

B 10N.
C 20N.
D 30N

6  Aforce of 500N is applied to a box in the direction shown to move it up an incline.

It takes 3 seconds to move this box from R to S. The useful power generated is -+«

A 5000w
B 666.7W
C 8333WwW
D 1500.0W

7 Which of the following gives the states of matter in which molecules at a given
temperature have the highest speed and the strongest cohesive force?

Highest speed Strongest force between them

A gas solid
B gas gas
C solid gas
D solid solid

Science/5124/1/Z/2013 [TUI'I‘I over



Page 4 of 13
8  The figure below shows an ideal pulley system.

L support
pulley
\
¥
N
%
effort
N
L/
||
5kg load

Assuming g = 10m/s2, the minimum effort required to raise the load iSeee

A 1N
B 5N
C ON
D 10N

9  Warm water which is left in a clay pot gradually cools. This is because .«

A heat no longer reaches the water.

B  of evaporation of water from the pot.
C there is no condensation.

D of convection currents in water.

10 The figure below shows a graph of wave motion.

A

displacement
0 %——W . >
time

Which quantities are shown by distance P and Q7

P Q
A Amplitude Period
B  Half the amplitude period
C amplitude wavelength
D  half the amplitude wavelength
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11 All of the following are properties of a radio wave except ...
A it causes particles of a medium to vibrate perpendicular to its direction.
B it travels with a speed approximately 3 x 10® m/s in air -
C ltis undeflected by electric or magnetic fields.
D It does not travel in a vacuum.

12 The diagram below shows a bar of iron placed near a magnet. Both the iron bar and
the magnet remain undisturbed.

magnet
Iron bar

Which of the following correctly shows the magnetic poles on the iron bar?

B C D
S N

13 A positively charged sphere is moved close to an isolated metal bar.

metal bar

Which diagram shows the charges induced on the bar?

(O OO
()

+ + + +

+ + + +
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14 The diagram below represents a parallel circuit.

vV
s

®

e

3Q
S

The current through the ammeter, @ , IS eee

A

B
C
D

0.5A.
1.0A.
2.0A.
9.0A.

15 In wiring a house a switch is always connected to the live wire. This iS eee

A

B
C
D

because no current flows through the neutral wire.
to avoid short circuits and overheating of elements.
because the circuit can never be switched off if the switch is on the neutral wire.

to make it easier to isolate any device connected in the circuit thus making it
safe.

16 An electric appliance is rated 5000W, 250V. A man uses this appliance for 10 hours
and pays K25.00 for the electrical energy used. What is the cost of electrical energy

17

per unit?

A KO0.10

B K0.50

C KO0.80

D K2.00

Which of the following is true about cathode rays”?
A They carry a positive charge.

B  They can produce X-rays.

C  They are electromagnetic in nature.

D They are lighter than electrons.
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The diagram shows a coil in a magnetic field which is part of an a.c generator.

L

coil

What must be connected directly to X and Y?

A splitrings
B  brushes

C sliprings
D d.csupply

The radioisotope sodium — 24 | has a half-life of 15 hours. How long would an 8g
sample of sodium — 24 take to decay to 1g?

A 45 hours
B 60 hours
C 90 hours
D 120 hours

The equation represents the decay of carbon — 14 to nitrogen — 14.

14 14
C—- _N+x
8 7

Which of the following is true about radiation X?

A It can be repelled by a proton.

B It can be repelled by an electron.
C ltis electrically neutral.

D Itis an electromagnetic wave.

Which of the following processes shows that matter is composed of tiny particles.
A Crystallisation

B  Expansion

C Freezing

D Melting
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22 The diagrams show three sets of apparatus.

Filter paper

gvaporating

W
2 3
beaker ————» / .
basin
Filter funnel TTT T TT
heat heat

What apparatus would be used to obtain separate samples of sand and salt from a
mixture of sand and sea water?

A 1only
B 1and3
C 2and3
D 3only

23 A gas is less dense than air, very soluble in water and is alkaline.

Which method is used to collect a dry sample of the gas?

A B
gas gas
calcium oxide
dry gas -
C D e
<— dry gas | !*}—T—dry'gas
gas —> = | \
- V77

L

e Frrre — concentrated

o S sulphuric acid
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The symbol for an atom of phosphorus is f; P. What does the number 31 represent

for an atom of phosphorus?

A  The number of nucleons.

B  The number of protons.

C The position of the atom in the Periodic Table.
D The number of electrons, protons and neutrons.

Which pair of elements form a compound by sharing electrons?

A  Carbon and chlorine.

B Lithium and iodine.

C Neon and oxygen.

D Potassium and bromine.

How many atoms are present in one molecule of Urea, CO(NH,),?
A 4

B 6
c 7
D 8

Methane burns completely in oxygen according to the equation below:

CH.ig) + 202(g) —>COx(g) + 2H20(g)

i£ 0.2 mol of methane is burned completely, which volume of carbon dioxide measured
atr.tpis formed? .

A 0.2dm?
B 0.6dm’
C 2.4dm®
D 4.8dm°

Potassium is in the same Group of the Periodic Table as lithium.

Which of the following is a property of lithium?

A Itis a poor conductor of electricity.

B It forms an acidic oxide.

C It forms an ionic chloride, LiCl,.

D Itreacts with water, liberating hydrogen.

How many Groups in the Periodic Table contain both metals and non-metals?
A 2

B 4
CcC 6
D 8
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30 Aluminium cooking utensils are used in many kitchens. What property of aluminium is
not important for this use?

A It has a high melting point.

B Itis a good conductor of electricity.
C ltis a good conductor of heat.

D ltis resistant to corrosion.

31 Which row in the table below gives a correct use for the metal stated?

A | aluminium making water pipes

B | copper galvanising dustbins

C mild steel making car bodies

D |zinc manufacture of aircrafts

32 What is the identity test of the gas formed when an ammonium salt reacts with an
alkali?

A ltrelights a glowing splint.

B It turns damp red litmus paper blue.
C It burns with a ‘pop’ sound.

D It turns limewater milky.

33 Which of the salts below can be prepared by a titration method?

A Copper (ll) sulphate.
B  Aluminium nitrate.

C  Ammonium chloride.
D Barium sulphate.

34 Ethene is an unsaturated hydrocarbon. Its structure is shown below.

AN

/ %
H H
What product is formed when ethene reacts with chlorine?
A H Cl
N\ /
F=4
H H
B Cl |
Y
H— ? —C —H
H
C Cl
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35 An organic compound containing carbon, hydrogen and oxygen is represented by the

36

37

diagram below.

What couid the compound be?

A  Ethanol

B Propane

C Ethanoic acid
D Propanol

Methane, CHy, the first member of the alkane homologous series, has the boiling point
-161°C.

Which molecular formula and boiling point could be correct for another alkane?
A CH, |-88

B CoHs -185
C Gz Hs -69
D Satl: —42

Terylene (polyester) is made by the condensation polymerisation of the two monomers

shown.
0 @]

H—O—gg—g—O—HandH—O—m—O—H
What is the simplest repeat unit of the polymer?
A ST o

0 0]
B —o0o—[J]—C—0 -2 —0—

(l);

¢c —clJ o_c-P_o-

1 I

o) o)
D —ﬁ—l__—]——g_- ) — O —
|
o) o)
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38 Which method of rust prevention does not involve coating of the iron or steel object?

39

40

A
B
o
D

Galvanising

Oiling

Painting

Sacrificial protection

Hydrogen is manufactured by the steam reforming of natural gas according to the
equation below:

CHa(g) + H20(g) —>CO(g) + 3H2 (9)

What catalyst is used in this process?

A
B
C
D

manganese (IV) oxide
Iron (l11) oxide

Nickel

Platinum

Which of the following is not a use of ammonia?

A

B
Cc
D

manufacture of ammonium nitrate
manufacture of nitrogen
manufacture of nitric acid
manufacture of ammonium chloride.
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